Name Progression: Medium Year 3

Class

. Dividing by 3
12+3= [ 33+3= [
18+3= [ 9+3=[
27+3= [ 6+3=[
30+3=[ 36+3= [
15+ |=5 12+ ]=4
+3=8 +3=10

1) There are 24 children. They get into groups of 3. How
many groups are there?

2) Tricycles have three wheels. Altogether there are 36
wheels. How many tricycles are there?

3) Pencils cost £3. How many pencils could Jack buy for
£357?

4) There are 29 chocolates. Three friends want to ,
share the chocolates equally. Will they be able to? | stk
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How confidently can you Your Score ]
divide by 37?

Not confident  Fairly confident Very confident
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